Direction (1-25) : What should come in place
o the quesion mark @) in the folloving

questio
1. 2o aaasvacr
(@ 188 (b) 150
(©) 184 (@182

() None of these
2. 6850+25+7-24=308

(©) 45022 () 60256
(©) None of these

4. 98 64~ 3504 =7
@ 2572 (b)2768
(©) 2964 2732

of these
5. 113698 105697 3058 =7
(1) 4493

(4953
() None of these.
6. (25X 6000)+150 45
() 4500 (b) 50000
() 45000
() None of these:
. V19=1
(@ 117 ()91
()126 @9

(€) None of these

8 (6) +(37 x (2 - (9)' =7
(@215 (b)209
© 221 @211

(6) None of these
00824 + 6208+ 167

720
@60
| @iosso (b) 10540
| @0 @ 1050

(©)Nane ofthese

BE 65 X (5) x (5)2 +(5) = (5)"

(@) 82156 (6)40522

) 4o fudmaterials.o

(¢) None of these
12, 45% of 3204 - 48% of ? = 911.40

wine (®) 1105
150 (@.1005

N ofthese

13, 48% of 350 >
@42 (b) 128
(© 126 @48
(@) None

14, (o036 a0 T148)+ 7= 44930
@20 (b)24
©22 @18

(€) None of these
5. V1296 V1764 + 2= (39)°

@9 ®7
© 1 @5
(©) None of these
16. 44616+17
(@ 2704 (b)2304
© 32 ()48
(€) None of these
17. 9425
(@) 185.29 (b) 162,65
() 18729 () 19569
(@) None of these
18. 8 x3 2
(@) 18833 (b) 18333
(©) 13383 (@ 13833
(b) 7744
(@) 8464
20.
u) 45 4 (b6

(©)394 @513
(¢) None of these
. 15127+ 4323~ 825 =92
(0) 745
() 695

33



B

i
© 3 2
© @3

©Nor oot

15231 26-73=1
®)7
(@ 49"

{6 Nose ofthese

L (6)' = (36)' x216=6"

(¢) None of these.

. Out of 5 women and 4 men, a committee of

‘many different ways can this be done?
(@50 ()84

©) 76
(€) None ofthese

@9

. The present ages of Amit and his father are in
the o of 2 espstivly. Fou yarshene
the ratio of their ages will become 5 : 11
respectively. What was the father’s Eﬁm
‘years age
(@) 40 years i
(©) 30 years @35
(Nomealiter
Twice the square of a pumber s six times the

(@ 120

. The costof § pens and 4 pencil

o WA A ot v B 45
second
@14 b)2:5
©1:3

() Cannot be determined.

(&) None of th

Manoj sold an article for 15,000, Had he
e 5 o 109 o by s
he would have camed a profit of 8%, What is

e cost price?
®T12500 (6213500
(© 212250 @F13.250

(©) Non of hese:
i 176and the

e

sl

@ W31

0% @318

(©) None of these

It many diflesn wayscant eter of e

word TOTAL be arranged?
()60

(©) 48 @7

(&) None of these

32, If the area of a circle is 616 cm’, what is its
perimeter
(@) 76cm (b) 84 cm
(© 9 (@) 80cm

33, A truck covers 448 ks in § hours. The average

spesd ofabicycl 41 the average speed of the
truck. How mnch distance will the bieyele
covern 7 o

()9 (b) 98 kams,

(0 kms (@96 kms,

(¢) None of these.
34. What will be the compound ifterest acerued on
a principle amount of 12000/~ at the ratc of 4

pecpaaficr a period of 2 years?
(@) 29715 )2.973.4
(©) 29792 @9759
(@261

5. 35% of a number is 182, What is 130% of that
numbe
(@ 676 (b) 667
B (@ 663

Fthese
56,1 e ﬁvlh’wmg fractions are arranged
ricisspend  (from el 10 right), which of
o il second from e ff end?

2
CH

§
ot

) 11
37, Manjest spnd 120 on bil, 229 o ot 3nd

28% on shopping. 1 the remaining amount =

€360, o mchdidhe il
@37
©3
O Noneatitine

38. The side of a square is twice the radius of &
circle. The area of the square is 9604 . <o
What is the area of the circle?
(@ 754559, cm () 7543 sq. em
(©) 7548 5q. em (@) 7549 5q.em
(€) None of these.

30 Thesegeof v nbesi 408 The g

and he second murmber i 46, The average

i o st b itk 37, Wt S

{eass0

()34
(©3 @3
(e) None of these



40.

&

.2

&

- How many copies v ot to be sid?
(®)6

i scord 10 ks in g 135 ks n

Total students = 6500

E much  approximate
percentage did Bina get in this cxam?

(@8 (0) 89

©7 (@95

(090
Directions (41-43) : The following questions
are based on the given information

A publisher published 3400 copies of a book
28% of the total copies were sold n city A. 32%
Ofthe total copies were soldincity B. 22% of the
tottal copies were sold in city . The remaining
copies are et to be sold

. How many copies were soldin city B and city C

together?
(@) 1833 (b) 1838
(©) 1836 @ 1832

(€) None of these

. What s the difference between the number of
city 2

opies sold in city A and ci
@210

(b)202
(©) 2 (@208
(&) None of these:

(@6
@5
(¢) None of these.
What s the least number it can be added 0
4700 0 maks it perec s
(@) 65
(©63 @64
(€) None of these.
21 binders can bind 1400 books in 15 days
How many bindrswill be reqird 0 bind 00
e

@7

(et

®9
© 12 @14
(e) None of thes
Direcions  (8630): Sty the. foll lowing

Pie-chart carefully 10 answer these uestions,

e of
students in different courses

46. What is the value of half of the differen

between the number of students in MBA
MB

(@) 800 () 1600

(© 1300 (@650

(€) None of these.
47. What s the total number of students in B.E
ol MBS gt

65 b) 2565

(@ 2504

. How much more percentage (approxiimately) ¢

S,udma,gm,ygms are in MBA as compared to studens |
2

@
©359

()53
@31

49. Number of students in B.Se. is approximatel,

hat percentage of the number of students it
Ed?
(@) 167 () 162
@153

50
50 Whatisthe espctiveraiobetween the ey

students in Pharmacy and the muber of
s B T
@11 ®)13:6

@6:13

@13:7
(©) None of these.
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